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निरे्दश (1 – 3) : एक संख्या व्यवस्था मशीि को 
जब संख्याओं की एक इिपुट लाइि र्दी जाती है, तो 
वे प्रत्येक चरण में एक ववशेष नियम का अिुसरण 
करत ेहुए उस ेपुिव् ययवस्स्थत करती है। 
इिपुट: 734269 825497 647538 219354 
961357 321658 
चरण I: 962437 794528 465783 123945 
753169 236185 
चरण II: 123945 236185 465783 753169 
794528 962437 
चरण III: 135924 135268 357468 135796 
579248 379246 
चरण IV: 3458 31048 152848 33554 351832 
211824 
चरण V: 20 16 28 20 22 18 
चरण V पुिव्ययवस्था का अंनतम चरण है। उपरोक्त 
चरणों में दर्दए गए नियमों के अिुसार, निम्िललखित 
प्रत्येक प्रश्ि में दर्दए गए इिपुट के ललए उपयुक्त 
चरणों का पता लगाएं। 
इिपुट: 856347 745982 329584 512379 
954267 463512 
 
1. यदर्द चरण V में 20, 10 स ेसंबंधित है तथा 
चरण II में 973215, 743658 स ेसंबंधित है। उसी 
प्रकार चरण III में 579248 ककससे संबंधित है? 
A. 135246 
B. 357468 
C. 579246 
D. 359248 
E. उपरोक् त में स ेकोई िहीं 
 
2. चरण II में बाएं छोर से र्दसूरे तत्व और चरण IV 
में र्दाएं छोर स ेर्दसूरे तत्व के बीच क्या अंतर है? 
A. 156723 
B. 118964 
C. 127704 
D. 138567 
E. 102488 
 

3. कौि सा तत्व चरण IV में बाएं छोर से र्दसूरे 
तत्व की र्दाईं ओर से तीसरा तत् व है? 
A. 33518 
B. 31024 
C. 351832 
D. 351824 
E. 151832 
 
निरे्दश (4 – 6) : निम् िललखित जािकारी का 
ध् यािपूवयक अध् ययि करें तथा तद्िुसार प्रश् िों के 
उत् तर र्दें। 
7 व् यस्क्त अथायत ्A, C, F, J, N, R और V, सभी 
ककसी प्रकार से V से संबंधित हैं तथा सभी का मुि 
उत् तर की ओर है। J अंनतम छोर स ेतीसरे स् थाि पर 
बैठता है। V के वपता, J की र्दाईं ओर स ेर्दसूरे स्थाि 
पर बैठते हैं। V के वपता और V की बहि के बीच 
केवल 3 व् यस्क्त बैठे हैं। V की बहि की बाईं ओर 
बैठे व् यस्क्तयों की संख् या V की मा ंकी र्दाईं ओर बैठे 
व् यस्क्तयों की संख् या के समाि है। N और V की मा ं
के बीच केवल एक व्यस्क्त बैठता है। N, C का पतु्र 
है। A, C की र्दाईं ओर से तीसरे स् थाि पर बैठता 
है। C, R के वपता हैं। F, R की ठीक र्दाईं ओर 
बैठता है। V की पत्िी, V के बाएं से र्दसूरे स्थाि पर 
बैठती है। 
 
4. V की र्दाईं ओर ककतिे व् यस्क्त बैठे हैं? 
A. एक 
B. र्दो 
C. तीि 
D. चार 
E. पांच 
 
5. कौि V की बाईं ओर स ेर्दसूरे स् थाि पर बैठता 
है? 
A. C 
B. R 
C. A 
D. J 
E. N 
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6. N, A से ककस प्रकार संबंधित है? 
A. वपता 
B. ससुर 
C. माता 
D. बहि 
E. नििायररत िहीं ककया जा सकता 
 
निरे्दश: निम् िललखित जािकारी का ध् यािपूवयक 
अध् ययि करें तथा तद्िुसार प्रश् िों के उत् तर र्दें।  
7. A & B → A, B के उत्तर में 15 मीटर की र्दरूी 
पर है 
A @ B → A, B के पूवय में 23 मीटर की र्दरूी पर 
है 
A # B → A, B के र्दक्षिण में 20 मीटर की र्दरूी 
पर है 
A % B→ A, B के पस्श्चम में 12 मीटर की र्दरूी 
पर है 
यदर्द P % Q # R & S @ T # U, V @ U है, 
तो V और Q के बीच की र्दरूी क् या है? 
A. 20 मी. 
B. 25 मी. 
C. 30 मी. 
D. 15 मी. 
E. 35 मी. 
 
निरे्दश (8 – 10) : निम् िललखित जािकारी का 
ध् यािपूवयक अध् ययि करें तथा तद्िुसार प्रश् िों के 
उत् तर र्दें। 
निम्िललखित शब्र्दों को िीचे दर्दए अिुसार कूटबद्ि 
ककया गया है: 
‘Words make sentences meaningful’ को 8 $ 
A, 2!R, 6#C, 14 $ F के रूप में कूटबद्ि ककया 
गया है 
‘Rain stops every week’ को 2^E, 2#O, 8+A, 
8!E के रूप में कूटबद्ि ककया गया है 
‘Eagerly receives ___(a)___’ को 12%R, 4^R, 
12+V के रूप में कूटबद्ि ककया गया है 

‘Rarely prepares tasty food’ को 12%R, 2~S, 
__(b)__, 8 @ O के रूप में कूटबद्ि ककया गया 
है 
 
8. ‘every motivated’ के ललए क् या कूट है? 
A. 5#F 6 @ R 
B. 2^E 6 $ T 
C. 6#F 8 $ D 
D. 5 $ F 7 @ E 
E. 7 @ R 5%R 
 
9. ररक् त स् थाि ‘(a)’ में क् या आएगा? 
A. Prepares 
B. Rarely 
C. Tasty 
D. Food 
E. Eagerly 
 
10. ररक् त स् थाि ‘(b)’ में क् या आएगा? 
A. 5 $ F 
B. 8*D 
C. 10+E 
D. 7#D 
E. 9^Y 
 
निरे्दश (11 – 12) : निम् िललखित जािकारी का 
ध् यािपूवयक अध् ययि करें तथा तद्िुसार प्रश् िों के 
उत् तर र्दें। 
निम् िललखित कूटों का उपयोग ककया जाता है: 
क् लब (♣), डायमंड (♦), हाटय (♥) और स् पेड 
(♠) 
A♥B का अथय है A, B के उत् तर में है 
A♣B का अथय है A, B के र्दक्षिण में है 
A♠B का अथय है A, B के पूवय में है 
A♦B का अथय है A, B के पस्श्चम  में है 
Z से Y तक 3 बसें यात्रा करती हैं। 
बस 1: K 16♦ Z, J 10♣ K, M 9♦ J, D 
18♥ M, C 29♠ D, P 9♥ C, Y 4♦ P 
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बस 2: E 52♣ Z, F 6♦ E, G 13♥ F, H 
10♦ G, K 39♥ H, Y 25♠ L 
बस 3: N 32♠ Z, Q 4♥ N, S 8♦ Q, T 
4♥ S, C 20♦ T 
 
11. D एवं T के बीच की र्दरूी ककतिी है? 
A. 57 मी. 
B. 65 मी. 
C. 45 मी. 
D. 49 मी. 
E. इिमें से कोई िहीं 
 
12. M के संर्दभय में H की दर्दशा क् या है? 
A. र्दक्षिण 
B. उत् तर 
C. र्दक्षिण-पूवय 
D. र्दक्षिण-पस्श्चम  
E. नििायररत िहीं ककया जा सकता 
 
निरे्दश (13 – 15) : निम् िललखित जािकारी का 
ध् यािपूवयक अध् ययि करें तथा तद्िुसार प्रश् िों के 
उत् तर र्दें। 
2 संकें दित वगायकार मैर्दािों में 8 व् यस्क्त िडे हैं। 
इिमें स ेचार बाहरी मैर्दाि में अंर्दर की ओर मुि 
करके िडे हैं तथा चार अंतरस् थ मैर्दाि में बाहर की 
ओर मुि करके िडे हैं। सभी व् यस्क्त वगायकार मैर्दाि 
की भुजा के मध् य में िडे हैं। इसमें 4 युगल हैं। 
Q, T की ठीक र्दाईं ओर है। Q का मुि V की ओर 
है। V और R के पनत के बीच केवल एक व्यस्क्त 
है। W का मुि R के निकटतम पडोसी की ओर है। 
W, T का जीविसाथी िहीं है। P का मुि ि तो W 
की ओर ि ही R की ओर है। S, P का निकटतम 
पडोसी है। P का मुि कें ि की ओर है। 
 
13. U का जीविसाथी कौि है? 
A. W 
B. V 
C. S 
D. P 

E. नििायररत िहीं ककया जा सकता 
 
14. निम्ि में से कौि निकटतम पडोसी हैं? 
A. QR 
B. PW 
C. VW 
D. SV 
E. इिमें स ेकोई िहीं 
 
15. कौि T की र्दाईं ओर से र्दसूरे स् थाि पर बैठता 
है? 
A. U 
B. R 
C. Q 
D. V 
E. W 
 
निरे्दश: िीचे दर्दए गए प्रश् ि में एक कथि दर्दया गया 
है स्जसका तीि अिुमाि I, II और III अिुसरण करते 
हैं। अिुमाि कुछ भी मािा हुआ हो सकता है अथवा 
अिुमोर्दि के ललए ललया गया हो सकता है। आपको 
निम् िललखित अिुमािों पर ववचार करिा है और यह 
नििायररत करिा है कक कौि सा अिुमाि कथि में 
अंतनियदहत है।  
 
16. कथि: प्रिािमंत्री िरेंि मोर्दी िे 24 फरवरी को 
उत्तर प्ररे्दश के गोरिपुर में 75,000 करोड रुपये की 
प्रिािमंत्री ककसाि सम् माि निधि (पी.एम.-ककसाि) 
योजिा की शुरूआत की है, स्जसके अंतगयत र्दो 
हेक् टेयर तक की कृवष योग् य भूलम रििे वाले एक 
करोड स ेअधिक ककसािों को 2000 रुपये की प्रत् येक 
ककश् त के रूप में पहली तीि ककश् तों में ििरालश 
हस् तांतररत की जाएगी। अन् य एक करोड ककसािों को 
अगले 2-3 दर्दिों में इस योजिा में शालमल कर ललया 
जाएगा। 
अिुमाि: 
I. कें ि सरकार िे घोषणा की है कक पी.एम.-ककसाि 
योजिा के अंतगयत र्दो हेक् टेयर तक की कृवष योग् य 
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भूलम रििे वाले छोटे और सीमांत ककसािों को तीि 
ककश् तों में 6000 रुपये प्रनत वषय प्रर्दाि ककए जाएंगे। 
II. इस ववत्तीय वषय से ही इस योजिा को प्रभावी 
बिाया गया है और इसके पररणामस्वरूप, ककसािों 
को माचय के अंत तक एक ककश् त लमल जाएगी। यह 
काययक्रम, कृवष िेत्र के संकट को र्दरू करि ेके सरकार 
के प्रयास का दहस्सा है। 
III. छोटे और सीमांत ककसािों को एक सुनिस्श्चत 
आय सहायता प्रर्दाि करि ेके ललए सरकार प्रिािमंत्री 
ककसाि सम् माि निधि (पी.एम.-ककसाि) शुरू कर रही 
है। 
A. केवल II अंतनियदहत हैं। 
B. सभी I, II और III अंतनियदहत हैं। 
C. कोई अंतनियदहत िहीं है। 
D. केवल I अंतनियदहत है। 
E. केवल III अंतनियदहत है। 
 
निरे्दश: िीचे दर्दए गए प्रत्येक प्रश्ि में एक कथि 
दर्दया गया है स्जसके बार्द तीि अविारणाएँ I, II और 
III र्दी गई हैं। एक अविारणा वह है स्जसे सच मािा 
जाता है। आपको निम्िललखित अविारणाओं पर 
ववचार करिा होगा और यह तय करिा होगा कक 
कथि में कौि सी अविारणा निदहत है।  
 
17. कथि: भारतीय अधिकाररयों िे उि सभी हवाई 
अड्डों के वाखणस्ययक संचालि की अिुमनत र्दी है जो 
पाककस्तािी वायु सेिा के कुछ लडाकू जेट के कश्मीर 
के भारतीय दहस्से में प्रवेश करिे के बार्द बंर्द हो गए 
थे। अधिकाररयों िे सभी एयरलाइंस को सूधचत ककया 
था कक जम्म ूऔर कश्मीर िते्र और रे्दहरार्दिू के पास 
हवाई अड्डे बंर्द कर दर्दए गए हैं। 
अविारणाएँ: 
I. भारतीय वायु सेिा के पाककस्तािी िेत्र में प्रवशे 
करि ेऔर पाककस्ताि में एक आतंकवार्दी प्रलशिण 
कें ि पर बमबारी करि ेके बार्द पाककस्तािी वायु सेिा 
िे कश्मीर के भारतीय दहस्से में प्रवेश ककया। 
II. कई एयरलाइि अधिकाररयों िे पुस्टट कक की 
सरकार िे उन्हें सूधचत ककया है कक जम्मू, श्रीिगर, 

लेह, अमतृसर, रे्दहरार्दिू और िमयशाला के ललए उडािों 
को अगली सूचिा तक निलंबबत कर दर्दया गया है। 
III. एक अधिकारी िे कहा कक एयरमेि (NOTAM) 
को अभी तक कोई िोदटस जारी िहीं ककया गया है। 
यह सरकार के ललए एक अधिसूचिा है जो एयरलाइंस 
को लमली है, स्रोत िे कहा। 
A. कोई भी निदहत िहीं है 
B. केवल I निदहत है 
C. II और III र्दोिों निदहत हैं 
D. केवल III निदहत है 
E. केवल II निदहत है 
 
निरे्दश: निम्िललखित प्रश्ि में एक गद्यांश दर्दए गया 
है स्जसका अिुसरण तीि काययवादहयां I, II एवं III 
कर रही हैं। आपको गद्यांश में र्दी गई समस्त 
जािकारी को सत्य मािकर नििायररत करिा है कक 
कौि सी काययवाही गद्यांश का ताककय क रूप स े
अिुसरण करती है।  
 
18. कथि : एक सवेिण में यह पता चला है कक 
भारत में प्रारंलभक चरण के स्टाटय-अप और लघु 
व्यवसाय मदहला वषय 2017 में सरकार द्वारा 
मदहलाओं के माततृ्व अवकाश में वदृ्धि के बार्द 
मदहलाओं को नियुक्त ककए जािे स ेबच रहे हैं। माचय 
2017 में पाररत माततृ्व लाभ अधिनियम में संशोिि 
िे मदहलाओं के ललए रे्दय माततृ्व अवकाश की 
समयसीमा को 12 सप्ताह से बढाकर 26 सप्ताह 
कर दर्दया था, स्जससे संगदठत िेत्र में कायय कर रहीं 
1.8 लमललयि मदहला कमयचाररयों को फायर्दा हुआ है। 
यह कािूि 10 और उसस े अधिक संख्या वाली 
इकाईयों के ललए लाग ूहै, और यह लाभ केवल प्रथम 
र्दो बच्चों तक ही लमलेगा। लोकल सककय ल, एक 
िागररक मंच स्जसिे 9000, प्रारंलभक चरण स्टाटयअप 
और लघु व्यवसायों का सविेण ककया है, िे कहा कक 
माततृ्व लाभों, स्जसमें छह महीिों का वैतनिक 
अवकाश शालमल है, का फायर्दा उठािे वाली मदहलाओ ं
को नियुक्त करिा स्टाटयअप पर एक प्रभावी आधथयक 
बोझ हो गया है, 46% उत्तरर्दाताओं िे कहा कक 
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उन्होंिे वपछले 18 महीिों में अधिकांश पुरुष 
कमयचाररयों को नियुक्त ककया है। 
काययवाही: 
I. यद्यवप सरकार िे वपछले साल के आखिरी में कहा 
था कक वह नियोक्ताओं को माततृ्व अवकाश पर 
कमायचाररयों को दर्दए गए सात सप्ताह के वेति का 
भुगताि करेगी, इस पर स्टाटयअप और एस.एम.ई. िे 
कहा कक यह पयायप्त िहीं होगा। सवेिण के अिुसार, 
65% उत्तरर्दाताओं िे कहा कक उिके ललए 19 सप्ताह 
के वैतनिक अवकाश को सहि करिा काफी मुस्श्कल 
होगा। 
II. िवीितम मॉन्सटर सैलरी इंडेक्स ररपोटय के 
अिुसार, भारत में मदहलाएं अभी भी अपिे पुरुष 
समकक्षियों से 19% कम कमाती हैं। यह अंतर 
वपछले साल 1% और बढ गया। इसके अनतररक्त, 
ररपोटय यह भी बताती है कक मदहला िेततृ्व व्यवसायों 
को पुरुष िेततृ्व व्यवसायों की ओर स ेमात्र 65% 
आधथयक सहायता प्राप्त हुई थी। 
III. हालांकक, सभी स्टाटयअप माततृ्व लाभ समाप्त 
ककए जािे पर सहमत िहीं हैं। रोहि श्रवण, ए.आई. 
स्टाटयअप इंकसय टेक्िोलॉजी के संस्थापक, कहत े हैं 
कक िौ कमयचाररयों की उिकी टीम में तीि कमयचारी 
मदहलाएं हैं और अपिे आकार की कई कंपनियों से 
हटकर, वे कमयचाररयों को वधियत माततृ्व लाभ की 
पेशकश करत ेहैं। 
A. सभी अिुसरण करत ेहैं 
B. I अथवा III में से कोई अिुसरण िहीं करता है 
C. केवल I अिुसरण करता है 
D. कोई अिुसरण िहीं करता है 
E. केवल III अिुसरण करते हैं 
 
निरे्दश (19 – 22) : निम् िललखित जािकारी को 
ध् यािपूवयक पढें और िीचे दर्दए प्रश् िों के उत् तर र्दें: 
र्दस बॉक्स अथायत P, Q, R, S, T, A, B, C, D 
और E एक ढेर में ऊपर स ेिीचे की ओर व्यवस्स्थत 
ककया गया है (जहां सबसे िीचे वाले बॉक् स की संख् या 
1 है और सबसे ऊपर वाले बॉक् स की संख् या 10 है) 
लेककि जरूरी िहीं कक इसी क्रम में हो। जो बॉक्स 
सम संख् या वाल े स्थाि पर रि े जात े हैं, उिमें 

ववलभन् ि फल जैसे सेब, िाशपाती, संतरा, लीची और 
कीवी हैं। 
संतरे वाले बॉक्स और बॉक् स A के बीच र्दो बॉक्स 
रि ेजात ेहैं। स्जस बॉक्स में संतरा है उस ेढेर में 8वें 
या 10वें स्थाि पर रिा जाता है। बॉक् स R को बॉक् स 
P के ऊपर, लेककि S के िीचे रिा जाता है। वह 
बॉक्स स्जसमे कीवी है के िीचे रि ेफलों के बॉक्स 
और ऊपर रि ेबॉक्स की संख्या समाि है| बॉक्स A 
बॉक्स T के ऊपर है लेककि ठीक ऊपर िहीं है। बॉक्स 
A और बॉक्स T के बीच रिे बॉक्सों की संख्या, 
बॉक्स T और बॉक्स D के बीच रि ेगए बॉक्सों की 
संख्या के समाि है। स्जस बॉक्स में िाशपाती है वह 
लीची वाले बॉक्स के ऊपर रिा जाता है। बॉक्स C 
को बॉक्स Q के ठीक ऊपर रिा गया है। बॉक्स C 
को बॉक्स Q के ठीक ऊपर रिा जाता है।बॉक्स E 
और बॉक्स D के बीच केवल तीि बॉक्स रि ेगए हैं 
जहां बॉक्स E बॉक्स D के ऊपर रिा गया है। बॉक्स 
D में कीवी िहीं है। स्जस बॉक्स में सेब है उस ेबॉक्स 
T के िीचे रिा जाता है लेककि ठीक िीचे िहीं। ि 
तो बॉक्स R और ि बॉक्स Q में िाशपाती है। बॉक्स 
B में सेब है। स्जस बॉक्स में संतरा है उस ेबॉक्स E 
के ठीक ऊपर िहीं रिा जाता है। 
 
19. बॉक् स C और िीचे से चौथे स् थाि पर रि े
बॉक् स के बीच ककतिे बॉक् स रिे हैं? 
A. तीि 
B. चार 
C. चार से अधिक 
D. र्दो 
E. इिमें स ेकोई िहीं 
 
20. बॉक् स T में कौि सा फल है? 
A. लीची 
B. कीवी 
C. सेब 
D. संतरा 
E. कोई िहीं 
 
21. बॉक् स S का ढेर में ऊपर स ेकौि सा स् थाि है? 
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A. पहला 
B. र्दसूरा 
C. चौथा 
D. तीसरा 
E. छठा 
 
22. बॉक् स R के बारे में निम् िललखित में से क् या 
कहा जा सकता है? 
I. बॉक् स R में कीवी है। 
II. बॉक् स R बॉक् स E के ठीक ऊपर रिा है। 
III. बॉक् स R बॉक् स A और बॉक् स T के ठीक बीच 
में रिा है। 
A. केवल I 
B. केवल II 
C. केवल III 
D. I और II र्दोिों 
E. उपरोक् त में स ेकोई िहीं 
 
निरे्दश: दर्दए गए प्रश् ि में एक प्रश् ि तथा तीि कथि 
संख् या I, II तथा III दर्दए गए हैं। आपको यह निणयय 
करिा है कक कौि से कथि में दर्दया गया डेटा प्रश् ि 
का उत् तर रे्दिे के ललए पयायप् त है। इसके आिार पर 
ववकल् पों में से अपिे उत् तर का चयि करें। 
 
23. आठ व् यस्क्त A, B, C, D, E, F, G और H 
एक आठ मंस्जला इमारत में रहत ेहैं।सबसे निचले 
तल का क्रमांक 1 और सबस ेऊपरी तल का क्रमांक 
8 है।निम् िललखित में से कौि सबसे निचले तल पर 
रहता है? 
I. B, F स ेतीि तल ऊपर रहता है। G, B के ठीक 
ऊपर रहता है। B और A के बीच एक व् यस्क्त रहता 
है। 
II. A एक ववषम क्रमांक तल पर रहता है। C, A स े
र्दो तल ऊपर रहता है। 
III. E, D के ठीक ऊपर रहता है। D और H के बीच 
र्दो व् यस्क्त रहत ेहैं। 
A. I और II 
B. II और III 
C. या तो I और III या II और III 

D. कोई भी र्दो 
E. ये सभी 
 
निरे्दश (24 – 27) : िीचे र्दी गई जािकारी का 
ध् यािपूवयक अध् ययि करें तथा इसके आिार पर प्रश् िों 
के उत् तर र्दें। 
A, B, C, D, E, F, G, H, I िौ लोग तीि समान् तर 
पंस्क् तयों में उत् तर की ओर मुि करके इस प्रकार िडे 
हैं कक निकटतम लोगों के बीच र्दरूी समाि है। प्रत्येक 
पंस्क्त में तीि स्थाि हैं। वे अलग-अलग भाषायें 
दहन् र्दी, मराठी, गुजराती, अंग्रेजी, तलमल और तेलग ू
बोलते हैं। 
1) I, D और G तीि अलग पसं्क् तयों में िडे हैं और 
अलग-अलग भाषायें बोलते हैं। 
2) पंस्क् त 1 में एक जो गुजराती बोलता है मराठी 
बोलिे वाले के ठीक बांयीं ओर है। 
3) तीि व् यस्क् त जो अंग्रेजी बोलते हैं अलग-अलग 
पंस्क् तयों में िडे हैं। 
4) H पहली पंस्क् त में िडा है और अंग्रेजी भाषा 
बोलता है और र्दांयीं छोर पर है। 
5) G िा तो दहन् र्दी िा ही अंग्रेजी बोलता है और 
उसकी भाषा अन् य ककसी व् यस्क् त द्वारा िहीं बोली 
जाती है। 
6) पंस्क् त 2 में एक जो तलमल बोलता है पंस्क् त 3 
में दहन् र्दी और तेलगू बोलिे वाले के ववकणयता ववपरीत 
बैठा है। 
7) पंस्क् त 2 में एक जो तेलगू बोलता है पंस्क् त 1 में 
गुजराती और पंस्क् त 3 में दहन् र्दी बोलिे वाले के 
समान् तर है। 
8) B एक मात्र है जो गुजराती बोलता है और A के 
ववकणयता ववपरीत बैठा है। I र्दसूरी पंस्क्त में है और 
D अंग्रेजी िहीं बोल सकता है। 
9) पंस्क् त 3 में F र्दांयें छोर पर है और उस ेE स े
बात करि ेमें कोई कदठिाई िहीं होती है।  
 
24. पंस्क् त 3 के बीच में कौि बैठा है? 
A. B 
B. D 
C. C 
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D. A 
E. H 
 
25. पंस्क् त 2 में अंग्रेजी बोलिे वाले का निकटतम 
पडोसी कौि है? 
A. E 
B. A 
C. I 
D. F 
E. C 
 
26. निम् ि में से कौि पंस्क् त 2 में िहीं िडा है? 
A. A 
B. C 
C. I 
D. E 
E. इिमें से कोई िहीं 
 
27. निम् ि में से कौि अंग्रेजी िहीं बोलता है? 
A. H 
B. A 
C. D 
D. C 
E. इिमें से कोई िहीं 
 
निरे्दश (28 – 29) : िीचे दर्दए पैराग्राफ को पढें और 
प्रश् िों के उत् तर र्दें। 
प्राकृनतक विों पर विृारोपण और अन्य स्थलाकृनत 
बर्दलावों की वजह से पक्षियों के प्राकृनतक आवास के 
कम होिे के साथ बर्दलती पयायवरण स्स्थनतयों के 
बीच यह एक अच्छी िबर है कक भारतीय हॉियबबल 
पिी िे िुर्द को इि पररस्स्थनतयों के अिुकूल बिा 
ललया है। बेंगलुरु में एिसीबीआर-टीआईएफआर और 
मैसूर में िेचुरल कंजरवेशि फाउंडेशि के शोिकतायओं 
के एक समूह िे हॉियबबल के आठ घोंसले, स्जिमें से 
तीि निकटवती जंगलों में स्स्थत हैं और पांच कॉफी 
बागािों जैसे सशंोधित आवासों में स्स्थत थे, को रे्दिा। 
उन्होंिे पाया कक पक्षियों िे घोंसले बिािे में एक ही 
तरह का व् यवहार ककया लेककि बर्दले हुए वातावरण 

के अिुकूल। टीम िे अिामलाई पहाडडयों में घोंसल े
बिािे वाले भारतीय हॉियबबल को अध्ययि के ललए 
चुिा। तुलिा के ललए, शोिकतायओं िे वालपराई पठार 
और अन्िामलाई टाइगर ररजवय और वाज़चल ररजवय 
के निकटवती जंगलों में संशोधित आवासों में 
अध्ययि ककया। संशोधित आवास में चाय, कॉफी 
और इलायची के बागाि और आदर्दवासी बस्स्तया ं
शालमल थीं। 
 
28. र्दी गई जािकारी के आिार पर निम्िललखित में 
से कौि सा उपयुक् त निटकषय िहीं है? 
A. अध्ययि के र्दौराि स्थािीय आदर्दवासी सहायकों 
की मर्दर्द स ेकुछ घोंसले िोजे गए थे। 
B. महाि हॉियबबल आवास स्थाि संशोिि के अिुकूल 
हो सकत ेहैं बशत े कक भोजि और घोंसले के ललए 
उिकी मुख् य आवश्यकताएं कॉफी और जंगल जैस े
आवासों में पूरी हों। 
C. यह रे्दिते हुए कक हॉियबबल वषों तक एक ही 
घोंसले का उपयोग करत ेहैं, इि ज्ञात घोंसले के पेडों 
की सुरिा और बडे पेडों का अवरोिि जो संभाववत 
घोंसले हो सकत ेहैं, अत् यंत आवश्यक है। 
D. उपरोक् त में से कोई िहीं। 
E. उपरोक् त सभी। 
 
29. र्दी गई जािकारी के स् थाि पर निम्िललखित में 
से कौि सी उपयुक् त काययवाही है? 
A. हॉियबबल प्राकृनतक या छोडे गए कोट ठ में घोंसल े
बिािे वाले पिी हैं और घोंसले के ललए बडे पेडों में 
बि े कोट ठ का चयि करत े हैं। इसके अलावा, व े
एकसंगमिी होत ेहैं, और मार्दा, संयुग् मि के बार्द, र्दो-
चार महीिे की शुरुआती प्रजिि अवधि ित्म होिे 
तक िुर्द को छेर्द में रिती है। 
B. टीम िे संरक्षित िते्रों के बाहर हॉियबबल के संरिण 
के ललए वषायवि वाले भागों और कॉफी बागाि की 
िमता को भी ववलशट ट रूप स ेर्दशायया। 
C. इसके अलावा, रे्दशी विृ प्रजानतयों, ववशेष रूप से 
अंजीर, कल् पविृ और अन्य िाद्य पेडों की वववविता 
होिा आवश्यक है। 
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D. लशकार, संशोधित भूलम का उपयोग, जंगलों के 
कटाि, घोंसले की संभाविा वाले बडे पेडों की कटाई 
जैसे अन्य ितरों के साथ-साथ फलों वाल ेपेडों की 
कमी भी हॉियबबल की घोंसले बिािे की आर्दतों को 
प्रभाववत कर सकती है। 
E. यह रे्दिते हुए कक हॉियबबल वषों तक एक ही 
घोंसले का उपयोग करत ेहैं, इि ज्ञात घोंसले के पेडों 
की सुरिा और बडे पेडों का अवरोिि जो संभाववत 
घोंसले हो सकत ेहैं, अत् यंत आवश्यक है। 
 
30. निरे्दश: िीचे र्दी गई जािकारी का ध् यािपूवयक 
अध् ययि करें तथा इसके आिार पर प्रश् िों के उत् तर 
र्दें। 
हेक्सावेयर, ज़ेंसार, म् फैलसस और एल. एंड टी. 
इन्फोटेक जैसी मध्य स्तरीय आईटी सेवा फमों में 
राजस्व वदृ्धि होिे की उम् मीर्द है, उन् हें बडे समझौते 
से संवियि प्राप् त हो रहा है क् योंकक वे रे्दि रहे हैं कक 
ग्राहक प्रौद्योधगकी पररयोजिाओं में अधिक निवेश 
करिा चाहता है। जबकक वे ववकास में इंफोलसस और 
ववप्रो जैसे बडे प्रनतद्वंद्ववयों को पछाडिे का अिुमाि 
लगा रहे हैं, उिके सीमांतो पर र्दबाव अधिक होिे की 
संभाविा है। 
उपयुयक् त जािकारी में से कौि सा ताककय क रूप से 
अिुमानित ककया जा सकता है? 
A. सभी संकेत र्दशायते हैं कक ये मध्य स्तरीय आई.टी. 
सेवा फमय, ववत्त वषय 2020 में पुि: उद्योग औसत 
की तुलिा में अधिक वदृ्धि करेंगे। वपछले साल की 
तुलिा में उिकी प्रयास बेहतर हैं। वे मौजूर्दा र्दोिों 
स्स्थनत में वदृ्धि कर रहें हैं, उन्होिे िया लोगो प्राप् त 
ककया है और ववशेषत: वे अंनतम नतमाही में सौरे्द 
प्राप् त कर रहे हैं। 
B. यह व्यापक-आिाररत ववकास है स्जसका 
भौगोललक रूप स ेकाययिेत्र और सेवा िेत्र बढ रहा है, 
उिके बडे साधथयों के ववपरीत है, जहां हम कुछ 
भौगोललक और कायय िेत्रों में िरमी रे्दिते हैं। 
C. मध् य-स् तरीय कंपनियां अपिी संपूणय रणिीनत को 
तेज कर रही हैं, वे व् यवसाय को बढािे की तुलिा में 
कुछ ही बाजारों और व्यवसायों पर ध्याि कें दित कर 
रही हैं। 

D. जबकक ये फमें तेजी से वदृ्धि कर रही हैं तब भी 
उिके मास्जयि र्दबाव में हैं| पारंपररक भाग में मूल्य 
नििायरण का र्दबाव उिके मास्जयि को और कम कर 
सकता है। 
E. सभी अिुमानित ककए जा सकते हैं। 
 
निरे्दश (31 – 34) : निम्िललखित जािकारी का 
ध्यािपूवयक अध् ययि करें और निम्िललखित प्रश्िों के 
उत्तर र्दें। 
छह व्यस्क्त अथायत ्M, N, O, P, Q और R एक 
षट्भुजाकार मेज के चारों ओर केन्ि की ओर मुि 
करके बैठे हैं। सभी की लंबाई और वज़ि लभन्ि हैं 
जैसे सबसे लंबे व्यस्क्त का भार सबसे कम िहीं है। 
सभी लभन्ि आयु के हैं जैसे 14, 22, 28, 30, 35 
और 60 लेककि आवश्यक िहीं है कक इसी क्रम में 
हों। 
सभी में सबसे भारी व्यस्क्त N के र्दाएं तीसरे स्थाि 
पर बैठता है, स्जसकी आयु 60 वषय है। वह व्यस्क्त 
स्जसकी आयु Q से र्दोगुिी है सभी में तीसरा सबस े
हल्का व्यस्क्त है। व्यस्क्त स्जसकी आयु 35 वषय है 
र्दसूरा सबस ेलंबा व् यस्क्त है जो Q के र्दाए ं र्दसूरे 
स्थाि पर बैठता है, जो N का निकटतम पडोसी िहीं 
है। N और तीसरे सबसे भारी व्यस्क्त, स्जसकी आयु 
14 वषय है, के बीच केवल एक व्यस्क्त बैठता है। जो 
व्यस्क्त Q स ेउम्र में छोटा है सबसे हल्का िहीं है। 
Q केवल र्दो व् यस्क्तयों से लम्बाई में छोटा है। O की 
आयु M की आिी है, M लंबाई में सबसे छोटे व्यस्क्त 
के र्दाएं तीसरे स्थाि पर बैठता है। वह व्यस्क्त जो 
P से उम्र में बडा है, Q स ेलंबा है। स्जस व्यस्क्त 
की आयु 30 वषय है सभी में सबसे भारी है। वह 
व्यस्क्त जो R के ववपरीत बैठता है सभी में र्दसूरा 
सबसे भारी व्यस्क्त है। R, P के र्दाएं र्दसूरे स्थाि 
पर बैठता है। M, उसस ेलंबा है जो 14 वषय का है।  
 
31. निम्ि में से ककसका मुि P की ओर है? 
A. M 
B. O 
C. N 
D. Q 
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E. R 
 
32. निम्ि में स ेकौि सा व्यस्क्त तीसरा सबस ेहल्का 
व् यस्क्त है? 
A. M 
B. R 
C. N 
D. O 
E. Q 
 
33. निम्ि पांच में से चार एक ववशेष प्रकार से एक-
समाि हैं और इसललए एक समूह बिात ेहैं। उसकी 
पहचाि करें जो समूह से संबंधित िहीं है? 
A. O 
B. Q 
C. R 
D. N 
E. P 
 
34. इस समूह में कौि सा व्यस्क्त सबसे छोटा है? 
A. O 
B. R 
C. P 
D. N 
E. Q 
 
निरे्दश: निम्िललखित प्रश्ि में एक प्रश्ि के साथ तीि 
कथि I और II दर्दए गए हैं। आपको नििायररत करिा 
है कक क्या कथिों में र्दी गई जािकारी प्रश्ि का उत्तर 
रे्दिे के ललए पयायप्त है?  
 
35. व्यस्क्तयों M, N, O, P, Q और R में स े
ककसका वेति सबसे अधिक है? 
I. O का वेति केवल र्दो व्यस्क्तयों स ेअधिक है। N 
का वेति M से अधिक है लेककि सबसे अधिक िही ं
है। Q का वेति केवल R से अधिक है। 
II. M को केवल र्दो व्यस्क्तयों से कम वेति लमलता 
है। Q को R स ेअधिक लेककि O से कम वेति 

लमलता है। O को M स ेकम वेति लमलता है। N 
को P स ेकम वेति लमलता है। 
A. यदर्द कथि II में र्दी गई जािकारी अकेले प्रश्ि 
का उत्तर रे्दिे के ललए पयायप्त है, 
जबकक कथि I में र्दी गई जािकारी अकेले प्रश्ि का 
उत्तर रे्दिे के ललए पयायप्त िहीं है 
B. यदर्द कथि I और कथि II में र्दी गई जािकारी 
लमलकर भी प्रश्ि का उत्तर रे्दिे के ललए पयायप्त िहीं 
है 
C. यदर्द कथि I में र्दी गई जािकारी अकेले प्रश्ि 
का उत्तर रे्दिे के ललए पयायप्त है अथवा कथि II में 
र्दी गई जािकारी अकेले प्रश्ि का उत्तर रे्दिे के ललए 
पयायप्त है 
D. यदर्द कथि I में र्दी गई जािकारी अकेले प्रश्ि 
का उत्तर रे्दिे के ललए पयायप्त है, 
जबकक कथि II में र्दी गई जािकारी अकेले प्रश्ि का 
उत्तर रे्दिे के ललए पयायप्त िहीं है 
E. यदर्द कथि I और II में र्दी गई जािकारी लमलकर 
प्रश्ि का उत्तर रे्दिे के ललए आवश्यक है 
 
निरे्दश : िीचे र्दी गई जािकारी का ध् यािपूवयक 
अध् ययि करें तथा इसके आिार पर प्रश् िों के उत् तर 
र्दें। 
एक सूची में 6 व्यस्क्त हैं, A, B, C, D, E और F, 
उन्हें एक परीिा में अलग-अलग अंक लमल ेहैं। C 
को D की तुलिा में अधिक लेककि B स ेकम अंक 
लमले हैं| E को F की तुलिा में अधिक अंक लमले हैं 
और F को सब में से कम अकं लमले है। स्जसे सबस े
ययार्दा अंक लमले उसके 400 अंक हैं और स्जसे सबस े
कम अंक लमल ेउसके 60 अंक हैं| स्जसे सबस ेययार्दा 
अंक लमले हैं सूची में उसका स्थाि िंबर 1पर है और 
स्जसे सबसे कम अंक लमले हैं सूची में उसका स्थाि 
िंबर 6 पर है।  
 
36. यदर्द A को 400 अंक लमले और E का स्थाि 
सूची में आखिर स े2है और स्जन्हें आखिरी 3 स्थाि 
लमले हैं उिके औसत अंक 95 हैं, तो D और E के 
कुल अंक एक साथ ककतिे हुए? 
A. 245 

http://www.gradeup.com/


www.gradeup.co 
 
 

 
11 

 

B. 235 
C. 225 
D. 200 
E. इिमें से कोई िहीं 
 
निरे्दश (37 – 39) : निम्िललखित जािकारी का 
ध्यािपूवयक अध् ययि करें और िीचे दर्दए गए प्रश्िों 
के उत् तर र्दें। 
एक गैराज में ववलभन्ि प्रकार के पांच वाहि अथायत ्
बस, वैि, बाइक, ट्रक, जीप हैं लेककि आवश् यक िहीं 
है कक इसी क्रम में हों। व ेएक ही दर्दि में अलग-
अलग समय पर सववयस रे्दते हैं। गरैाज में उिकी 
सववयलसगं की अवधि अलग - अलग हो भी सकती है 
और िहीं भी। मैकेनिक द्वारा गैराज में सववयलसगं की 
कुल अवधि 11 घंटे है। सभी वाहिों के सववयलसगं 
समय के बीच कोई अंतर िहीं है। सववयलसगं की अवधि 
या तो एक घंटे या आिे घंटे की होती है लेककि एक 
नतहाई या एक चौथाई में िहीं होती है। एक वैि 
स्जसकी एक गैराज में 12:30 से 3 बजे तक सववयलसगं 
की गई। जीप को वैि के तुरंत बार्दसववयस ककया गया। 
गैराज में जीप की सववयलसगं के घंटे तीि घंटे हैं। 
गैराज में ट्रक की सववयलसगं अवधि गैराज में बाइक 
की सववयलसगं की अवधि स े1 घंटा अधिक है। ट्रक 
को बाइक की सववयलसगं के बार्द ही सववयस ककया गया 
था। ट्रक को आखिर में सववयस िहीं ककया गया था। 
वैि से पहले गैराज में बस की सववयस की गई थी 
लेककि तत्काल पहले िहीं। बस की सववयलसगं की 
अवधि 1.5 घंटे है। बाइक की सववयलसगं पूवायह्ि6:00 
बजे के बार्द है।  
 
37. निम्ि में से ककसे 3:00 - 6:00 बज ेके बीच 
सववयस ककया गया? 
A. बस 
B. बाईक 
C. ट्रक 
D. जीप 
E. वैि 
 

38. निम्ि में से ककस े बस के तुरंत बार्द सववयस 
ककया गया? 
A. ट्रक 
B. बाइक 
C. वैि 
D. जीप 
E. इिमें स ेकोई िहीं 
 
39. बाइक की सववयलसगं अवधि (घंटों में) क्या है? 
A. 2 .5 घंटे 
B. 3 घंटे 
C. 3 .5 घंटे 
D. 1 .5 घंटा 
E. 2 घंटे 
 
निरे्दश: िीचे दर्दए गए प्रश्ि में एक कथि है स्जसका 
तीि तकय  I, II और III अिुसरण करत ेहैं। आपको 
यह नििायररत करिा है कक दर्दए गए कथिों में स े
कौि सा तकय  प्रबल और कौि सा तकय  कमजोर है, 
इसके अिुसार प्रत् येक प्रश् ि के िीचे दर्दए गए ववकल् पों 
में स ेअपिे उत् तर का चयि करें।  
40. कथि: रिा मंत्री निमयला सीतारमण के अिुसार, 
भारत िे रूस को संरे्दश दर्दया है कक वह पांचवीं पीढी 
के लडाकू ववमाि (एफ.जी.एफ.ए.) ववकलसत करि े
हेतु अब इस पररयोजिा का दहस्सा िहीं होगा और 
संभवत: बार्द के चरण में काययक्रम में शालमल हो 
सकता है। रूस को यह बता दर्दया गया था कक व े
इस पररयोजिा को आगे बढा सकते हैं और हम बार्द 
के चरण में इसमें शालमल हो सकते हैं। 
निम्िललखित तकों में से कौि सा तकय  सवोत्तम संभव 
प्रकार से उपयुयक् त कथि का समथयि करता है? 
तकय : 
I. भारत और रूस िे वषय 2007 में मेगा पररयोजिा 
के ललए एक अंतर-सरकारी समझौते पर हस्तािर 
ककए थे, स्जसके द्वारा र्दोिों रणिीनतक साझेर्दारों के 
मध् य सैन्य संबंिों को अगले स्तर तक ले जािे की 
कोलशश की जा रही थी। 
II. हालांकक, पररयोजिा वपछले 11 वषों स ेअटकी हुई 
थी क्योंकक जेट को ववकलसत करि ेकी लागत को 
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साझा करि,े इसमें उपयोग की जािे वाली 
प्रौद्योधगककयों और उत्पादर्दत ककए जािे वाले ववमािों 
की संख्या पर र्दोिों पिों के बीच गंभीर मतभेर्द थे। 
III. सरकार िाटकीय नियंत्रण के अंनतम लक्ष्य को 
प्राप्त करि ेके ललए एक स्तरीय दृस्टटकोण को अपिा 
रही है और यह जोर एक निचले दृस्टटकोण पर था। 
A. कोई भी प्रबल िहीं है। 
B. केवल III और II प्रबल हैं। 
C. केवल III प्रबल है। 
D. III और I को छोडकर सभी प्रबल हैं। 
E. सभी प्रबल हैं। 
 
41. जी.एस.टी. और ववमुिीकरण के बार्द बढती ब्याज 
र्दरें एस.एम.ई. को प्रभाववत कर रही हैं। छोटे और 
मध्यम आकार के उद्यमों (एस.एम.ई.) के ललए 
ववस्ताररत संपवत्त (एल.ए.पी.) के खिलाफ ऋण के 
ललए ब्याज र्दरों के 2018 के आगामी महीिों में बढिे 
की तैयारी है। भारत में छोटे व्यवसायों के ललए मौि 
पररचालि वातावरण के अनतररक् त ब्याज र्दरों में 
वदृ्धि होिे से एस.एम.ई. के ललए ववस्ताररत 
एल.ए.पी. पर पररसीमि में वदृ्धि होगी। जुलाई, 
2017 में उत् पार्द एवं सेवा कर (जी.एस.टी.) की 
शुरूआत और सरकार की ववमुिीकरण िीनत िे 
एस.एम.ई. िेत्र पर र्दबाव डाल दर्दया है, स्जससे ब्याज 
र्दरों में बढोतरी होगी। 
उपयुयक् त कथि में स ेकौि ताककय क रूप स ेअिुमानित 
ककया जा सकता है? 
A. वपछले कुछ वषों में बढती हुई कलमयों के कारण 
ऋणर्दाताओं को ऋण प्रर्दाि करते समय अधिक सतकय  
रहिे के ललए बाध्य ककया जाएगा। यह पुिववयत्त 
ववकल्पों को सीलमत करेगा जो मौजूर्दा उिारकतायओं 
को प्रनतकूल रूप से प्रभाववत करेगा। 
B. लेककि िुकसाि सीलमत होगा क्योंकक ये ऋण 
सुरक्षित हैं और अपेिाकृत ऋण और मूल्य अिुपात 
कम हैं। 
C. बढती ब्याज र्दरें पुिववयत्त ववकल्पों को सीलमत 
करेंगी और चुकौती रालशयों को बढाएंगी, एस.एम.ई. 
के ललए पररसंपवत्त समधथयत प्रनतभूनतयों (ए.बी.एस.) 
के ललए जोखिम बढािा एल.ए.पी. समधथयत है। 

D. एस.एम.ई. के ललए ववस्ताररत एल.ए.पी. द्वारा 
समधथयत ए.बी.एस. (पररसंपवत्त समधथयत प्रनतभूनतयां) 
में गैर-पररशोिि िकर्दी भंडार, पयायप्त अनतररक्त 
प्रसार और ऋण के जीवि को बढािे की संभाविा है 
और इसललए हस् तांतरण का अस्स्तत् व है। 
E. कोई अिुमानित िहीं ककया जा सकता है। 
 
निरे्दश: िीचे दर्दए गए प्रश् ि में एक कथि दर्दया गया 
है स्जसका तीि अिुमाि I, II और III अिुसरण करते 
हैं। अिुमाि कुछ भी मािा हुआ हो सकता है अथवा 
अिुमोर्दि के ललए ललया गया हो सकता है। आपको 
निम् िललखित अिुमािों पर ववचार करिा है और यह 
नििायररत करिा है कक कौि सा अिुमाि कथि में 
अंतनियदहत है।  
 
42. कथि: 
I. शोिकतायओं का कहिा है कक र्दनुिया की सबस े
बडी मिुमक्िी- एक ववशालकाय कीट है जो मािव 
के अंगूठे के आकार की है, इसे इंडोिेलशया के एक 
सुर्दरूवती दहस्से में र्दोबारा िोजा गया है, इसे पहली 
बार लगभग 40 वषों पहले िोजा गया था। 
II. इसके ववलशटट आकार के बावजूर्द, ककसी िे भी 
19वीं शताब्र्दी में बिदटश प्रकृनतवार्दी अल्रेड रसेल 
वालेस द्वारा िोजी गई वालेस की ववशालकाय 
मिुमक्िी को िहीं रे्दिा था। 
निटकषय: 
I. मिुमक् िी के निवास िेत्रों में ककए गए वपछले 
अलभयाि ववफल रहे थे। 
II. इंडोिेलशया कई प्रकार की विस्पनतयों और जीवों 
का घर है, लेककि कुछ जािवरों और कीट समरु्दायों 
के ललए आशंकाएं हैं क्योंकक कृवष के ललए जंगल काट 
दर्दए जािे स ेकई प्रजानतयों के प्राकृनतक आवास ितरे 
में आ गए हैं। 
III. वह मिुमक्िी जो उत्तरी मोलुकस के इंडोिेलशयाई 
द्वीप िेत्र में रहती है, र्दीमक के टीलों में अपिा 
आवास बिाती है, अपिे घर को र्दीमक स ेबचाि ेके 
ललए धचपधचप ेराल को इकट्ठा करि ेके ललए अपिे 
िुकीले जबडे का प्रयोग करती है। 
A. केवल निट कषय I अिुसरण करता है। 
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B. र्दोिो निट कषय II और III अिुसरण करत ेहैं। 
C. केवल निट कषय III अिुसरण करता है। 
D. केवल निट कषय II अिुसरण करता है। 
E. र्दोिो निट कषय I और II अिुसरण करत ेहैं। 
 
निरे्दश: निम्िललखित जािकारी का ध्यािपूवयक 
अध्ययि करें और िीचे दर्दए गए प्रश्िों के उत्तर र्दें। 
छह व्यस्क्त L, M, N, P, R S एक बत्रकोणीय मेज 
के चारों ओर बैठते हैं, परन्तु आवश्यक िहीं है कक 
इसी क्रम में हो। उिमें से तीि मेज के कोिे पर 
बैठते हैं और उिमें से तीि लसरों के बीच में बैठते 
हैं। उिमें से कुछ का मुि मेज की ओर है और उिमें 
से कुछ का मुि मेज के बाहर की ओर है। र्दो स े
अधिक व्यस्क्त जो एक ही दर्दशा म ेमुि ककए हुए हैं 
एक-र्दसूरे के निकटतम पडोसी िहीं हैं। R और P के 
मध्य र्दो व्यस्क्त बैठत ेहैं। P का मुि अंर्दर की तरफ 
है। S, R के र्दाएं र्दसूरे स्थाि पर बैठता है। L का 
मुि R की ववपरीत दर्दशा में है। N और S, जो टेबल 
के कोिे पर िहीं बैठता है, के बीच केवल एक व्यस्क्त 
बैठता है। M और N, P के समाि दर्दशा का सामिा 
करत ेहैं। M, L के बाएं ओर से र्दसूरे स्थाि पर है। 
 
43. निम्िललखित पांच में स ेचार एक निस्श्चत तरीके 
से एक जैस ेहैं और इसललए एक समूह बिात ेहै। वह 
कौि-सा है जो उस समूह स ेसंबंधित िहीं है? 
A. R 

B. M 
C. N 
D. P 
E. L 
 
44. निम्ि में से कौि उस व्यस्क्त के र्दाएं र्दसूरे 
स्थाि पर है, जो N के बाएं तीसरे स्थाि पर बैठता 
है? 
A. R 
B. L 
C. P 
D. S 
E. इिमें स ेकोई िही 
 
45. N के र्दाएं स ेधगििे पर ककतिे व्यस्क्त S और 
N के बीच में बैठते हैं? 
A. तीि 
B. र्दो 
C. एक 
D. कोई िहीं 
E. इिमें स ेकोई िहीं 
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###ANSWERS### 

 

1. Ans. B.  

The logic for the given arrangement is: 

Step I - In even numbers, group of 2 

digits are reversed and in odd numbers, 

all the digits are reversed. 

Step II - All the numbers are arranged in 

ascending order from left to right. 

Step III - First odd numbers and then 

even numbers are arranged in ascending 

order within the numbers. 

Step IV - Group of 2 digits are multiplied. 

Step V - Add all the digits within the 

numbers. 

Input: 856347 745982 329584 512379 

954267 463512 

Step I: 743658 479528 235948 973215 

762459 645321 

Step II: 235948 479528 645321 743658 

762459 973215 

Step III: 359248 579248 135246 357468 

579246 135792 

Step IV: 151832 351832 31024 152848 

351824 33518 

Step V: 20 22 10 28 23 20 

2. Ans. C.  

The logic for the given arrangement is: 

Step I - In even numbers, group of 2 

digits are reversed and in odd numbers, 

all the digits are reversed. 

Step II - All the numbers are arranged in 

ascending order from left to right. 

Step III - First odd numbers and then 

even numbers are arranged in ascending 

order within the numbers. 

Step IV - Group of 2 digits are multiplied. 

Step V - Add all the digits within the 

numbers. 

Input: 856347 745982 329584 512379 

954267 463512 

Step I: 743658 479528 235948 973215 

762459 645321 

Step II: 235948 479528 645321 743658 

762459 973215 

Step III: 359248 579248 135246 357468 

579246 135792 

Step IV: 151832 351832 31024 152848 

351824 33518 

Step V: 20 22 10 28 23 20 

3. Ans. D.  

The logic for the given arrangement is: 

Step I - In even numbers, group of 2 

digits are reversed and in odd numbers, 

all the digits are reversed. 

Step II - All the numbers are arranged in 

ascending order from left to right. 

Step III - First odd numbers and then 

even numbers are arranged in ascending 

order within the numbers. 

Step IV - Group of 2 digits are multiplied. 

Step V - Add all the digits within the 

numbers. 

Input: 856347 745982 329584 512379 

954267 463512 

Step I: 743658 479528 235948 973215 

762459 645321 

Step II: 235948 479528 645321 743658 

762459 973215 

Step III: 359248 579248 135246 357468 

579246 135792 

Step IV: 151832 351832 31024 152848 

351824 33518 

Step V: 20 22 10 28 23 20 

4. Ans. A.  

 
Family Tree, 
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5. Ans. C.  

 
Family Tree, 

 

 
6. Ans. B.  

 
Family Tree, 

 

 
7. Ans. B.  

 
8. Ans. B.  

The logic behind the coding is: 

Every word is coded by number, symbol 

& letter. 

Logic behind Number: 

If Number of letters is even: Add 4 to the 

total number of letters 

If Number of letters is odd: Subtract 3 

from the total number of letters 

Logic behind symbol: 

 
Logic behind Letter: 3rd letter of every 

word from the right is taken. 

9. Ans. A.  

The logic behind the coding is: 

Every word is coded by number, symbol 

& letter. 

Logic behind Number: 

If Number of letters is even: Add 4 to the 

total number of letters 

If Number of letters is odd: Subtract 3 

from the total number of letters 

Logic behind symbol: 

 
Logic behind Letter: 3rd letter of every 

word from the right is taken. 

10. Ans. C.  

The logic behind the coding is: 
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Every word is coded by number, symbol 

& letter. 

Logic behind Number: 

If Number of letters is even: Add 4 to the 

total number of letters 

If Number of letters is odd: Subtract 3 

from the total number of letters 

Logic behind symbol: 

 
Logic behind Letter: 3rd letter of every 

word from the right is taken. 

11. Ans. D.  

 

 

 

 
12. Ans. C.  
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13. Ans. A.  

 

 
14. Ans. C.  

 

 
15. Ans. A.  

 
16. Ans. B.  

The correct answer is option B, i.e. All I, 

II and III are implicit. 

An assumption is a thing that is accepted 

as true or as certain to happen, without 

proof. 

From the statement, it is evident that it is 

about the PM-KISAN scheme which is 

entitled to small and medium farmers 

having cultivable land up to two hectares. 

The first installment as promised by the 

Prime Minister Narendra Modi will be 

processed on February 24. 

Assumption (I) is a perfect assumption 

based on the information provided. The 

figure of 6000 is evident from the 

information stated, ‘first of the three 

installments of Rs 2,000 each’. 

Assumption (II) is also appropriate. The 

idea of the scheme launched in this fiscal 

is evident from the fact that PM is 

launching it now and before March end 

the first transaction would be done. It 

also highlights the general idea behind 

the scheme to help the distressed 

farmers. 

Similarly, assumption (III) is also 

appropriate as it follows the flow of the 

ideas stated and brings out the financial 

benefit the scheme will provide to the 

farmers. 

Thus, all of the assumptions are relevant 

thus the most appropriate answer choice 

is option B. 

17. Ans. A.  

The correct answer is option A, i.e. 

None is implicit. 
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An assumption is a thing that is accepted 

as true or as certain to happen, without 

proof. 

From the statement, it is evident the 

Indian authorities have allowed 

commercial operations to all the airports 

near the Jammu & Kashmir region and 

Dehradun that were shut after a few 

fighter jets of the Pakistani Air Force 

entered the Indian side of Kashmir. And 

further information regarding its 

components is also mentioned. 

Assumption (I) can be rejected as the 

information stated in it is not backed by 

the context given. 

Assumption (II) is not an apt assumption 

that can be made on the basis of the 

information provided. All the places 

mentioned for example Amritsar, 

Dharamshala are not evident from the 

given context. 

Assumption (III) is rejected as it is 

contradictory to the information stated. It 

states that no NOTAM has been issued 

whereas the given information states that 

information has been sent to the 

authorities. 

Thus, all of the assumptions are 

irrelevant and can be rejected and the 

most appropriate answer choice is option 

A 

18. Ans. D.  

The correct answer is option D, i.e. 

None follows. 

A course of action is something that 

needs to be done considering the present 

scenario in mind. 

From the statement, it is evident that it’s 

about Maternity leave granted to the 

women employees as per the law and 

how the companies have been avoiding 

hiring female staff in order to avoid 

maternity leaves to them. Thus, a 

suitable course of action must be in the 

sense to avoid this injustice being done to 

women. 

Course of action (I) can be rejected as it 

presents a course of action that is already 

stated by the government (past tensE.. 

Moreover, it further presents the problem 

and does not present the solution to it 

and is thus rejected. 

Course of action (II) is rejected as it 

simply presents facts and does not 

suggest any course of action. 

Based on similar grounds, course of 

action (III) is also rejected. Course of 

action (III) also shows the views of the 

startups and the stats but it fails to 

provide a solution to the problem. 

Thus, all the courses of actions are 

irrelevant and can be rejected. 

19. Ans. C.  

The box which contains orange is kept at 

either 8th or 10th position in the stack. 

Two boxes are kept between the box 

which contains orange and Box A. 

Number of boxes which contain fruits is 

same below and above the box which 

contains kiwi. 

Case 1 

 
Case 2 

 
Number of boxes kept between box A and 

Box T is same as the number of boxes 

kept between box T and Box D. 

Box A is above Box T but not immediately 

above. 

The box which contains orange is not kept 

immediately above Box E. 

Case 1 (A) 
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Case 1 (B) 

 
Case 2 

 
Only three boxes are kept between box E 

and Box D where Box E is kept above box 

D. 

(Hence, Case 1(A) and Case2 will get 

eliminated) 

The box which contains apple is kept 

below Box T but not immediately below. 

Box B contains apple. 

The box which contains pear is kept 

above the box which contains litchi. 

Box C is kept immediately above Box Q. 

Neither box R nor box Q contains Pear. 

Box R is kept above Box P but below Box 

S. 

 
20. Ans. A.  

The box which contains orange is kept at 

either 8th or 10th position in the stack. 

Two boxes are kept between the box 

which contains orange and Box A. 

Number of boxes which contain fruits is 

same below and above the box which 

contains kiwi. 

Case 1 

 
Case 2 

 
Number of boxes kept between box A and 

Box T is same as the number of boxes 

kept between box T and Box D. 

Box A is above Box T but not immediately 

above. 

The box which contains orange is not kept 

immediately above Box E. 

Case 1 (A) 
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Case 1 (B) 

 
Case 2 

 
Only three boxes are kept between box E 

and Box D where Box E is kept above box 

D. 

(Hence, Case 1(A) and Case2 will get 

eliminated) 

The box which contains apple is kept 

below Box T but not immediately below. 

Box B contains apple. 

The box which contains pear is kept 

above the box which contains litchi. 

Box C is kept immediately above Box Q. 

Neither box R nor box Q contains Pear. 

Box R is kept above Box P but below Box 

S. 

 
21. Ans. D.  

The box which contains orange is kept at 

either 8th or 10th position in the stack. 

Two boxes are kept between the box 

which contains orange and Box A. 

Number of boxes which contain fruits is 

same below and above the box which 

contains kiwi. 

Case 1 

 
Case 2 

 
Number of boxes kept between box A and 

Box T is same as the number of boxes 

kept between box T and Box D. 

Box A is above Box T but not immediately 

above. 

The box which contains orange is not kept 

immediately above Box E. 

Case 1 (A) 
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Case 1 (B) 

 
Case 2 

 
Only three boxes are kept between box E 

and Box D where Box E is kept above box 

D. 

(Hence, Case 1(A) and Case2 will get 

eliminated) 

The box which contains apple is kept 

below Box T but not immediately below. 

Box B contains apple. 

The box which contains pear is kept 

above the box which contains litchi. 

Box C is kept immediately above Box Q. 

Neither box R nor box Q contains Pear. 

Box R is kept above Box P but below Box 

S. 

 
22. Ans. D.  

The box which contains orange is kept at 

either 8th or 10th position in the stack. 

Two boxes are kept between the box 

which contains orange and Box A. 

Number of boxes which contain fruits is 

same below and above the box which 

contains kiwi. 

Case 1 

 
Case 2 

 
Number of boxes kept between box A and 

Box T is same as the number of boxes 

kept between box T and Box D. 

Box A is above Box T but not immediately 

above. 

The box which contains orange is not kept 

immediately above Box E. 

Case 1 (A) 
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Case 1 (B) 

 
Case 2 

 
Only three boxes are kept between box E 

and Box D where Box E is kept above box 

D. 

(Hence, Case 1(A) and Case2 will get 

eliminated) 

The box which contains apple is kept 

below Box T but not immediately below. 

Box B contains apple. 

The box which contains pear is kept 

above the box which contains litchi. 

Box C is kept immediately above Box Q. 

Neither box R nor box Q contains Pear. 

Box R is kept above Box P but below Box 

S. 

 
23. Ans. E.  

As we can see that if we use any two 

there are so possibilities so we take all of 

them. 

From I, II and III, 

 
So C lives on 1st floor. 

So all of them are necessary. 

Hence, option E. 

24. Ans. C.  

C is standing in the middle of row-3 

Detail Explanation: 

As given that I, D and G are in three 

different rows. And the one who speaks 

Gujarati is in immediate left of the one 

who speaks Marathi. This raises two 

cases for row-1 

Case-1 The one who speaks Marathi is in 

extreme right end. 

__________, ______Gujrati______, 

________Marathi_____ 

 

Case-2 The one who speaks Marathi is in 

the middle of the Row. 

_____Gujrati______, 

_____Marathi_______, 

_______________ 

Since H is standing in Row- at the right 

end and speaks a foreign language (i.e. 

English). Thus it eliminates the Case-1. 

Case 2 is the only valid case. 
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ROW 1- ___Gujrati_____, 

_______Marathi____, ______ (H) 

English____. 

Since in statement 9 it is mention that B 

is the only one who speaks Gujarati and 

is diagonally opposite to A. This can be 

valid only when A is at the right end of 

the Row-2. Thus A is the right end in the 

row-2... 

Row-1 ___(B) Gujrati___, 

______Marathi_____,_____(H) 

English_____. 

Row-2______________, ____________ 

, ________(A)___________. 

The one who speaks Tamil in a row -2 is 

diagonally opposite to the one who 

speaks Telugu and Hindi in Row-3. 

This raises 2 cases 

Case-1 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 _____________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Telgu____, _________, 

_____Hindi_____ 

Case-2 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 _____________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Hindi ___, _________, 

_____Telgu _____ 

According to statement 8 Case -2 is valid 

and Case-1 is invalid. 

Thus 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 ___Telgu__________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Hindi ___, _________, 

_____Telgu _____ 

Since there are 3 students who speak 

English and they are standing in different 

rows. Thus it implies A speaks English and 

the one who is in the center of Row-3 also 

speaks English. 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 ___Telgu__________, 

__Tamil_____, ___English (A) ______. 

Row-3 ______Hindi ___, 

__English_______, _____Telgu _____ 

G speaks the language that is not spoken 

by any other student it implies he speaks 

Marathi. 

I is in Row-2 and D is in Row-3 and 

speaks English. Thus, again two cases 

rise Either D speaks Hindi or Telugu. It is 

also stated That F is the right end of Row 

-3 Thus it is known that F speaks Telugu 

and he finds no difficulty while speaking 

to E, Implies both speak the same 

language. I am in row-2 and he speaks 

Tamil. 

While the only left student is C who is the 

middle of the Row-3 and speaks English. 

Final Arrangement -  

 
25. Ans. C.  

A is the one in Row-2 who speaks English 

and his to his immediate right there is no 

one. While I is standing to his 

immediately Left. Thus I is the only 

immediate neighbor of A (who speaks 

English) 

Detail Explanation:  

As given that I, D and G are in three 

different rows. And the one who speaks 

Gujarati is in immediate left of the one 

who speaks Marathi. This raises two 

cases for row-1 

Case-1 The one who speaks Marathi is in 

extreme right end. 

__________, ______Gujrati______, 

________Marathi_____ 

 

Case-2 The one who speaks Marathi is in 

the middle of the Row. 

_____Gujrati______, 

_____Marathi_______, 

_______________ 

Since H is standing in Row- at the right 

end and speaks a foreign language (i.e. 

English). Thus it eliminates the Case-1. 

Case 2 is the only valid case. 

ROW 1- ___Gujrati_____, 

_______Marathi____, ______ (H) 

English____. 
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Since in statement 9 it is mention that B 

is the only one who speaks Gujarati and 

is diagonally opposite to A. This can be 

valid only when A is at the right end of 

the Row-2. Thus A is the right end in the 

row-2... 

Row-1 ___(B) Gujrati___, 

______Marathi_____,_____(H) 

English_____. 

Row-2______________, ____________ 

, ________(A)___________. 

The one who speaks Tamil in a row -2 is 

diagonally opposite to the one who 

speaks Telugu and Hindi in Row-3. 

This raises 2 cases 

Case-1 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 _____________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Telgu____, _________, 

_____Hindi_____ 

Case-2 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 _____________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Hindi ___, _________, 

_____Telgu _____ 

According to statement 8 Case -2 is valid 

and Case-1 is invalid. 

Thus 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 ___Telgu__________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Hindi ___, _________, 

_____Telgu _____ 

Since there are 3 students who speak 

English and they are standing in different 

rows. Thus it implies A speaks English and 

the one who is in the center of Row-3 also 

speaks English. 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 ___Telgu__________, 

__Tamil_____, ___English (A) ______. 

Row-3 ______Hindi ___, 

__English_______, _____Telgu _____ 

G speaks the language that is not spoken 

by any other student it implies he speaks 

Marathi. 

I is in Row-2 and D is in Row-3 and 

speaks English. Thus, again two cases 

rise Either D speaks Hindi or Telugu. It is 

also stated That F is the right end of Row 

-3 Thus it is known that F speaks Telugu 

and he finds no difficulty while speaking 

to E, Implies both speak the same 

language. I am in row-2 and he speaks 

Tamil. 

While the only left student is C who is the 

middle of the Row-3 and speaks English. 

Final Arrangement -  

 
26. Ans. B.  

C is the one is standing in Row-3, not in 

Row-2. Hence Option (b) C is the correct 

answer.  

Detail Explanation: 

As given that I, D and G are in three 

different rows. And the one who speaks 

Gujarati is in immediate left of the one 

who speaks Marathi. This raises two 

cases for row-1 

Case-1 The one who speaks Marathi is in 

extreme right end. 

__________, ______Gujrati______, 

________Marathi_____ 

 

Case-2 The one who speaks Marathi is in 

the middle of the Row. 

_____Gujrati______, 

_____Marathi_______, 

_______________ 

Since H is standing in Row- at the right 

end and speaks a foreign language (i.e. 

English). Thus it eliminates the Case-1. 

Case 2 is the only valid case. 

ROW 1- ___Gujrati_____, 

_______Marathi____, ______ (H) 

English____. 

Since in statement 9 it is mention that B 

is the only one who speaks Gujarati and 

is diagonally opposite to A. This can be 

valid only when A is at the right end of 
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the Row-2. Thus A is the right end in the 

row-2... 

Row-1 ___(B) Gujrati___, 

______Marathi_____,_____(H) 

English_____. 

Row-2______________, ____________ 

, ________(A)___________. 

The one who speaks Tamil in a row -2 is 

diagonally opposite to the one who 

speaks Telugu and Hindi in Row-3. 

This raises 2 cases 

Case-1 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 _____________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Telgu____, _________, 

_____Hindi_____ 

Case-2 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 _____________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Hindi ___, _________, 

_____Telgu _____ 

According to statement 8 Case -2 is valid 

and Case-1 is invalid. 

Thus 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 ___Telgu__________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Hindi ___, _________, 

_____Telgu _____ 

Since there are 3 students who speak 

English and they are standing in different 

rows. Thus it implies A speaks English and 

the one who is in the center of Row-3 also 

speaks English. 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 ___Telgu__________, 

__Tamil_____, ___English (A) ______. 

Row-3 ______Hindi ___, 

__English_______, _____Telgu _____ 

G speaks the language that is not spoken 

by any other student it implies he speaks 

Marathi. 

I is in Row-2 and D is in Row-3 and 

speaks English. Thus, again two cases 

rise Either D speaks Hindi or Telugu. It is 

also stated That F is the right end of Row 

-3 Thus it is known that F speaks Telugu 

and he finds no difficulty while speaking 

to E, Implies both speak the same 

language. I am in row-2 and he speaks 

Tamil. 

While the only left student is C who is the 

middle of the Row-3 and speaks English. 

Final Arrangement -  

 
27. Ans. C.  

H, A, and C are the one who speaks 

English. While D is the one who speaks 

Hindi. Thus D is the correct option who 

does not speak English. 

Detail Explanation: 

As given that I, D and G are in three 

different rows. And the one who speaks 

Gujarati is in immediate left of the one 

who speaks Marathi. This raises two 

cases for row-1 

Case-1 The one who speaks Marathi is in 

extreme right end. 

__________, ______Gujrati______, 

________Marathi_____ 

 

Case-2 The one who speaks Marathi is in 

the middle of the Row. 

_____Gujrati______, 

_____Marathi_______, 

_______________ 

Since H is standing in Row- at the right 

end and speaks a foreign language (i.e. 

English). Thus it eliminates the Case-1. 

Case 2 is the only valid case. 

ROW 1- ___Gujrati_____, 

_______Marathi____, ______ (H) 

English____. 

Since in statement 9 it is mention that B 

is the only one who speaks Gujarati and 

is diagonally opposite to A. This can be 

valid only when A is at the right end of 

the Row-2. Thus A is the right end in the 

row-2... 

Row-1 ___(B) Gujrati___, 

______Marathi_____,_____(H) 

English_____. 
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Row-2______________, ____________ 

, ________(A)___________. 

The one who speaks Tamil in a row -2 is 

diagonally opposite to the one who 

speaks Telugu and Hindi in Row-3. 

This raises 2 cases 

Case-1 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 _____________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Telgu____, _________, 

_____Hindi_____ 

Case-2 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 _____________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Hindi ___, _________, 

_____Telgu _____ 

According to statement 8 Case -2 is valid 

and Case-1 is invalid. 

Thus 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 ___Telgu__________, 

__Tamil________, ________ (A) 

______. 

Row-3 ______Hindi ___, _________, 

_____Telgu _____ 

Since there are 3 students who speak 

English and they are standing in different 

rows. Thus it implies A speaks English and 

the one who is in the center of Row-3 also 

speaks English. 

Row-1 __ (B) Gujrati___, 

___Marathi___, ____ (H) English___. 

Row-2 ___Telgu__________, 

__Tamil_____, ___English (A) ______. 

Row-3 ______Hindi ___, 

__English_______, _____Telgu _____ 

G speaks the language that is not spoken 

by any other student it implies he speaks 

Marathi. 

I is in Row-2 and D is in Row-3 and 

speaks English. Thus, again two cases 

rise Either D speaks Hindi or Telugu. It is 

also stated That F is the right end of Row 

-3 Thus it is known that F speaks Telugu 

and he finds no difficulty while speaking 

to E, Implies both speak the same 

language. I am in row-2 and he speaks 

Tamil. 

While the only left student is C who is the 

middle of the Row-3 and speaks English. 

Final Arrangement -  

 
28. Ans. E.  

The correct answer is option E, i.e. All 

of the above, i.e. all of the above are 

not an appropriate set of conclusions 

that can be derived from the 

information provided. 

The given question asks which of the 

following is not an apt conclusion on the 

basis of the information provided thus we 

must look for any such information that 

cannot be derived from the passage 

stated. 

Option A is not based on the passage as 

the role of ‘local tribal assistants’ is not 

mentioned in the given context. 

Option B talks about a possibility 

(because of the word ‘may’) and is thus 

not a conclusion. Moreover, it poses a 

particular case of hornbills adapting to 

the environment if their requirements are 

fulfilled, which is not explicitly evident 

from the information provided. 

Option C discusses the idea of hornbills 

using same nest over the years which is 

contradicting to the idea of adapting to a 

changed environment. 

As all options A, B and C are irrelevant 

and are not based on the information 

provided thus, the most correct answer 

choice is option E. 

29. Ans. D.  

The correct answer is option D, i.e. 

Along with other threats such as 

hunting, modified land use, ensuing 

forest fragmentation, felling of large 

trees with the potential for nesting, 

the loss of fruit bearing trees could 

also affect hornbill nesting habits. 

A course of action is something that 

needs to be done considering the present 

scenario in mind. 
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Option A is not a course of action and is a 

general statement about Hornbills. Thus, 

it is rejected. 

Option B is in past tense (‘highlighted’) 

thus it is rejected. 

Option C is an incomplete action, if 

considered because it does not answer to 

the question ‘In addition to what?’ and is 

also eliminated. 

Both options D and E look appropriate 

course of actions. Between options D and 

E, option D is more appropriate. Option E 

talks about the idea of the ‘same nest’ 

and thus contradicts the idea that 

hornbills are adaptive to change. Thus, 

option E can also be rejected and as a 

result between options D and E, option D 

is relevant. 

Thus, the most correct answer choice is 

option D and rest of the options can be 

rejected. 

30. Ans. C.  

The correct answer is option 3, i.e. Mid-

tier companies are sharpening their 

overall strategy, by increasing focus 

on certain markets and businesses 

than spread thin. 

‘Inference’ is a conclusion reached on the 

basis of evidence and reasoning. 

We first make sure to read the statement 

carefully and then see what immediate 

inferences can be drawn based on our 

first reading. The next step is to look at 

the statements given in the options, 

analyze them and see if they seem 

relevant with respect to the 

information/data provided to us. 

From the statement, we can infer that 

mid-tier IT companies are growing in 

terms of revenue with the advent of 

technology projects. Though, they are 

expected to outcast giants like Infosys 

and Wipro, the pressure on their margins 

is likely to increase. 

(1) can be rejected as the ‘indicators’ 

mentioned in the beginning of the 

sentence are not mentioned anywhere in 

the given context. Also no information is 

evident regarding new logos. 

(2) can also be rejected as no information 

is evident on the basis of the given 

context regarding expansion across 

geographies, verticals and service lines. 

(4) can be eliminated as it just a rephrase 

of the information already provided in the 

given statement. 

From the given assumptions (3) is the 

most appropriate deduction that can be 

made. 

(3) can be logically inferred on the basis 

of the fact that these companies are 

improving their strategy (which has 

impacted their revenue growth) by 

targeting certain markets and businesses 

(new technology projects). 

As all the other options except (3) are 

irrelevant with respect to the data 

provided in the statement. Thus, the 

correct answer is option 3. 

31. Ans. B.  

The one who is heaviest among all sits 

third to the right of N, who is 60 years of 

age. The one who is 30yrs is the heaviest 

among all. Only one person sits between 

N and the one who is second heaviest 

among all, who is 14 years of age. Q is 

shorter than only two person. So, there 

will two possible case of sitting 

arrangement. 

 
The one who is 35 years of age is second 

tallest, who sits second to the right of Q, 

who is not the immediate neighbour of N. 

O who is half the age of M. So M is 28 

years of age and O is 14 years of age. 

 
The one who sits opposite to R is the 

second heaviest among all. R sits second 

to the right P. So, case 1 will be 

eliminated. Continuing with remaining 

step, the one who is older than P is the 
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taller than Q. The one who is twice the 

age of Q is third lightest among all. So, Q 

is 30 years of age. 

 
M sits third to the right of the one who 

shortest in height among all. That means 

R is shortest of them all. M is taller than 

the one who is 14 years old. 

 
32. Ans. C.  

The one who is heaviest among all sits 

third to the right of N, who is 60 years of 

age. The one who is 30yrs is the heaviest 

among all. Only one person sits between 

N and the one who is second heaviest 

among all, who is 14 years of age. Q is 

shorter than only two person. So, there 

will two possible case of sitting 

arrangement. 

 
The one who is 35 years of age is second 

tallest, who sits second to the right of Q, 

who is not the immediate neighbour of N. 

O who is half the age of M. So M is 28 

years of age and O is 14 years of age. 

 

The one who sits opposite to R is the 

second heaviest among all. R sits second 

to the right P. So, case 1 will be 

eliminated. Continuing with remaining 

step, the one who is older than P is the 

taller than Q. The one who is twice the 

age of Q is third lightest among all. So, Q 

is 30 years of age. 

 
M sits third to the right of the one who 

shortest in height among all. That means 

R is shortest of them all. M is taller than 

the one who is 14 years old. 

 
33. Ans. E.  

All persons age are even number 

except option E person. 

The one who is heaviest among all sits 

third to the right of N, who is 60 years of 

age. The one who is 30yrs is the heaviest 

among all. Only one person sits between 

N and the one who is second heaviest 

among all, who is 14 years of age. Q is 

shorter than only two person. So, there 

will two possible case of sitting 

arrangement. 

 
The one who is 35 years of age is second 

tallest, who sits second to the right of Q, 

who is not the immediate neighbour of N. 

O who is half the age of M. So M is 28 

years of age and O is 14 years of age. 
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The one who sits opposite to R is the 

second heaviest among all. R sits second 

to the right P. So, case 1 will be 

eliminated. Continuing with remaining 

step, the one who is older than P is the 

taller than Q. The one who is twice the 

age of Q is third lightest among all. So, Q 

is 30 years of age. 

 
M sits third to the right of the one who 

shortest in height among all. That means 

R is shortest of them all. M is taller than 

the one who is 14 years old.

 
34. Ans. B.  

The one who is heaviest among all sits 

third to the right of N, who is 60 years of 

age. The one who is 30yrs is the heaviest 

among all. Only one person sits between 

N and the one who is second heaviest 

among all, who is 14 years of age. Q is 

shorter than only two person. So, there 

will two possible case of sitting 

arrangement. 

 

The one who is 35 years of age is second 

tallest, who sits second to the right of Q, 

who is not the immediate neighbour of N. 

O who is half the age of M. So M is 28 

years of age and O is 14 years of age. 

 
The one who sits opposite to R is the 

second heaviest among all. R sits second 

to the right P. So, case 1 will be 

eliminated. Continuing with remaining 

step, the one who is older than P is the 

taller than Q. The one who is twice the 

age of Q is third lightest among all. So, Q 

is 30 years of age. 

 
M sits third to the right of the one who 

shortest in height among all. That means 

R is shortest of them all. M is taller than 

the one who is 14 years old. 

 
35. Ans. C.  

From statement I: 

O got more salary than only two persons. 

N > M but N did not get the highest 

salary. Q got highest salary than only R. 

P > N > M > O > Q > R 

From statement II: 

M got less salary than only two persons. 

Q > R, O > Q. M > O. P > N 

P > N > M > O > Q > R 
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Hence, the data in statement I or in 

statement II alone is sufficient to answer 

the question. 

36. Ans. C.  

From this information their positions are 

in decreasing order- 

A(400)>B>C>D>E>F(60) 

It is given D, E and F have average marks 

= 95 

So total marks=95 x 3= 285 

F got 60 marks so- 

D+E=285-60= 225 marks 

37. Ans. D.  

As the total time is 11 hours on adding all 

given times we will get bike serviced for 

1 and half hour and Truck for 2 and half 

hours. 

Jeep has to be serviced after Van and as 

per the given condition the first vehicle 

will be Bus followed by Bike,Truck,Van 

and Jeep and accordingly the following 

time is obtained 

 
38. Ans. B.  

As the total time is 11 hours on adding all 

given times we will get bike serviced for 

1 and half hour and Truck for 2 and half 

hours. 

Jeep has to be serviced after Van and as 

per the given condition the first vehicle 

will be Bus followed by Bike,Truck,Van 

and Jeep and accordingly the following 

time is obtained 

 
39. Ans. D.  

As the total time is 11 hours on adding all 

given times we will get bike serviced for 

1 and half hour and Truck for 2 and half 

hours. 

Jeep has to be serviced after Van and as 

per the given condition the first vehicle 

will be Bus followed by Bike,Truck,Van 

and Jeep and accordingly the following 

time is obtained 

 
40. Ans. C.  

The correct answer is option 3, i.e. Only 

III is strong. 

We first make sure to read the statement 

carefully and then see what immediate 

inferences can be drawn based on our 

first reading. The next step is to look at 

the arguments given in the options, 

analyze them and see if they seem 

relevant with respect to the 

information/data provided to us. Finally, 

it is very important to study the question 

closely. 

The above statement deals with the fact 

that India has opted out from the deal 

with Russia and the latter has been 

conveyed that it can go ahead with the 

project and India may join it at a later 

stage. 

Argument (I) can be rejected on first 

reading as it deals with the details of the 

deal and does not answers the question 

asked. 

Argument (II) can also be rejected as it 

hints at the idea of the problems between 

the two nations. It might look as an 

appropriate answer choice but does not 

provides a suitable reason as to why India 

may be interested in the project in later 

stages (as mentioned in the statement). 

Argument (III) generalizes the approach 

of India that it is adopting a layered 

approach and might be interested in the 

project later on. It captures the essence 
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of the given statement and thus, answers 

the question in the complete manner. 

Thus, option 3 captures the correct 

arguments that support the statement in 

the best possible manner and is our 

answer choice. Hence, rest of the options 

can be rejected. 

41. Ans. A.  

The correct answer is option 1, i.e. In 

addition to rising delinquencies over 

the last few years would force 

lenders to be more cautious while 

underwriting loans. This would limit 

refinancing options, adversely 

affecting existing borrowers. 

Option 1 is the most appropriate 

inference that can be made based on the 

information provided. It captures all the 

important points like ‘rising 

delinquencies’, ‘effect of limit on the 

refinancing options thereby, affecting the 

customers’ are evident both from the 

given statement and the option choice. 

Rest of the arguments can be rejected. 

Option (2) is very unpredictable and it 

cannot be said with surety about the loss 

limitation. Both options (3) and (4) can 

also be rejected as no idea of ABS (asset 

backed securities) is evident from the 

information provided in the given 

statement. 

Thus, the most appropriate answer is 

option 1. 

42. Ans. A.  

The correct answer is option A, i.e. 

Only conclusion I follows. 

In this type of question, conclusion is 

not specifically mentioned. It needs 

to be deduced from the given 

statements. 

From both the statements, we infer 

that the world’s largest bee which is 

roughly the size of a human thumb has 

been rediscovered in a remote part of 

Indonesia. And despite of its conspicuous 

size, no one had observed Wallace’s giant 

bee which was discovered in the 19th 

century by British naturalist Alfred Russel 

Wallace. 

Conclusion 1 is evident from the 

information stated in the second 

statement which states that ‘despite 

of its (bee’s) conspicuous size, no one 

had observed Wallace’s giant bee’. Thus, 

it can be concluded that previous 

expeditions failed to spot it. 

Conclusion 2 is irrelevant as the idea of 

forests being cut down for agriculture in 

Indonesia is not supported by the 

information stated in the given context. 

Conclusion 3 is also rejected as the 

specific location where the bee can be 

traced, and its large fang-like mandibles 

is not mentioned in both the statements. 

As only conclusion I follows the direction 

of the given statements thus, the most 

correct answer choice is option A and rest 

of the options can be rejected. 

43. Ans. E.  

1) Two persons sit between R and P. 

Here, we have two possible cases i.e. 

Case 1 and Case 2. 

2) P faces inside. 

 
3) S sits second to the right of R. 

Here, we have two more possible cases 

i.e. Case 3 and Case 4. 

 
4) Only one person sits between N and S 

who does not sit at corner of the table. 

Here, our case 1 and 3 get eliminated and 

we further proceed with case 2 and 4. 

5) L faces opposite direction to R. 

6) M sits 2nd to the left of L. 
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7) M and N faces same direction as P and 

not more than two persons sit adjacent to 

each other who are facing same direction. 

Here, Case 4 gets eliminated. 

So, S faces outside and our final 

arrangement will be: 

 
Clearly, L does not belong to that group 

because except L all are facing inside the 

table. 

44. Ans. C.  

1) Two persons sit between R and P. 

Here, we have two possible cases i.e. 

Case 1 and Case 2. 

2) P faces inside. 

 
3) S sits second to the right of R. 

Here, we have two more possible cases 

i.e. Case 3 and Case 4. 

 
4) Only one person sits between N and S 

who does not sit at corner of the table. 

Here, our case 1 and 3 get eliminated and 

we further proceed with case 2 and 4. 

5) L faces opposite direction to R. 

6) M sits 2nd to the left of L. 

 
7) M and N faces same direction as P and 

not more than two persons sit adjacent to 

each other who are facing same direction. 

Here, Case 4 gets eliminated. 

So, S faces outside and our final 

arrangement will be: 

 
Clearly, P sits second to the right of the 

one who sits third to the left of N. 

45. Ans. A.  

1) Two persons sit between R and P. 

Here, we have two possible cases i.e. 

Case 1 and Case 2. 

2) P faces inside. 

 
3) S sits second to the right of R. 

Here, we have two more possible cases 

i.e. Case 3 and Case 4. 
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4) Only one person sits between N and S 

who does not sit at corner of the table. 

Here, our case 1 and 3 get eliminated and 

we further proceed with case 2 and 4. 

5) L faces opposite direction to R. 

6) M sits 2nd to the left of L. 

 
7) M and N faces same direction as P and 

not more than two persons sit adjacent to 

each other who are facing same direction. 

Here, Case 4 gets eliminated. 

So, S faces outside and our final 

arrangement will be: 

 
Clearly, three persons sit between S and 

N when counted from the right of N. 
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